Efficiency vs P,

~ 0.5

IENCY VS P

o

= 0.2

[
>
>

[9)
c
o

S
=
)

Ratio

o 2
2 0a
NS

.................................................

t*‘#**%ﬁ*#{»'f """"""

A L R LA LN ALY RRRRN LRRRN LRLES LR
<) —_—— .
| ——

ARARRARRI RALL

=
S
3
.
.
o
I
e}
o)
2.
=)
w

0.18
0.16
0.14
0.12

0.1

0.08
0.06)
0.04
0.02

Vel

[y

o
o
e . Q
er cmm e e
s
3
' n
o
e
o

o
©
a

W[ T
N
(@]
-
N
w

Efficiency vs ¢

s 0.2F
0.18F
0.16F;
0.14F
0.12F
0.1F -
0.08F 41|,
0.06f]-1+-ElLL]:
0.0affL -4 -3
0.02f:

J-G-:, L
.osf

n
>
>

[2)
c
Q

=}
=
5}

Ratio




	Contents
	Page 1


